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Question1   For the function 1/3( ) log ( 1) 2f x x= − −  

1) find , if any, the −x intercept and the −y intercept 
2) find the domain  
3) find the asymptote(s)  
4) sketch the graph of  )(xf  
5) find the inverse function )(1 xf −  

Answer:    (1):  
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(3):  The vertical asymptote: 1x =                        (4):   
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Question2:  The expression 
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2 2 42 1log (5 ) log (25 ) log 25
3 2

m m− + +  is equal to 

Answer:  A)  
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Question3 
The graph of 1

2

log 3y x= − − is below the x-axis on the interval(s): 

a) ( ) ( )1, 3 3, 5∪  b) ( ) ( ), 2 4,−∞ ∪ ∞  c) ( ) ( )2, 3 3, 4∪  

d) ( ) ( ), 1 3,−∞ ∪ ∞  e) ( )3, ∞    
Solution:  (C):  ( ) ( )2, 3 3, 4∪  
 

Question4 
 The function  ( ) ( )1log 2ay x+= −  is defined when 

a) 2x >   and  1a > −  b) 2x ≥  and 1a ≥ −  c) 0x >  and 1a ≠  
d) 2x >   and  1a > − ,   0a ≠  e) 0x >   and  0a > ,   1a ≠  

Answer:  (d):  2  ,  1     and     0x a a> > − ≠  
 

Question5 
The expression 3 4 2 2log 3log 4 log8x y y z x yz− +

 
can be written as: 

(a) 5 11 4log512x y z           (d) 5 3log 2x y  

(b) 5 38log
3

x y
 

(e) 
3 4 2log( 12 8 )x y y z yz− +  

(c) 
5

2log
8
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